Al & 0l &8 At H Al A

2A DSYID
&l

Ha: dF DESS X4
)

K-8 s9(3) - NRAY - BeS 0Ol &k plE-L HlRE
o 7,724,638 4,922,165 2,802,473
= 200,000 200,000 0
Al 150,000 150,000 0
- 7,374,638 4,572,165 2,802,473
wESS =4 5,165,457 4,597,898 567,559
“E‘ 200,000 200,000 0
Al 150,000 150,000 0
T 4,815,457 4,247,898 567,558
Z Hel(FIEsEs) 5,165,457 4,597,898 567,559
s 200,000 200,000 0
Al 150,000 150,000 0
- 4,815,457 4,247,898 567,559
EHNENT 2 DEAE 22| 234,614 214,614 20,000
401 Al B2l 45,000 25,000 20,000
01 Al&Hl 45,000 25,000 20,000
O =HNHSFHE RNE4
Z & 45,000,000 45,000 25,000 20,000
My PE AlES A% 2 24 300,000 180,000 20,000
401 AlEHI 2 O] 300,000 80,000 20,000
01 Alatt] 300,000 180,000 20,000
O FHxTHS 4% ¥ Y|
Z 3 260,000,000 260,000 140,000 20,000
SHFIE 22 117,755 108,755 9,000
201 Et2 4Ll 55,700 46,700 9,000
01 AtR&2/H| 23,180 21,780 1,400
O 1. guragt| 23,180 21,780 1,400
—ABAE SEBRAMY +42(SYBDY)
200,000 * 1JHA + 7€ 1,400 0 1,400
02 232l 32,520 24,920 7,600
O 1. 83313 ¥ HA 18,520 14,420 4,100
~-5%3 TYENE Q3
500,000 » 7& 3,500 0 3,500
~BUB TARIE ABLERD
200,000 « 3& 600 0 800
O 3. AIZEBIS X8l Z&E 3,500,000 * 4704 14,000 10,500 3,500
e ESFXE AL 3,005,000 2,005,000 1,000,000
401 Al L2 UL 3,005,000 2,005,000 1,000,000
01 A&l 3,000,000 2,000,000 1,000,000
O 472 ZESFUF A&
Z& 1,000,000,000 = 342 3,000,000 2,000,000 1,000,000
8 =X NeHs 402,227 418,491 L 16,264
201 Qer2 | 243,579 312, 131 68,552
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ool FXE Bol(EMESEIN) (ool
SN - FE - SA(S) - NRAY - S 0l &k o4 plE-EN BREZ
02 22234 193,975 262,527 268,552
O1. 2223 ¢ HA 118,955 118,339 616
—EY FEX S AIESALE AUlA 0
4] Iy SHd] 44,000 « 2CH = 7€ 616 0 616
O 3. AIEZHIRAY] 66,000 135, 168 A69,168
—0lSE CCTV RXE=SH
Z & 50,000 * 27| = 12& 1,200 7,872 6,672
—AFE CCTV KX 248l
Z& 100,000 = 507| = 128 60,000 122,496 AN62,496
301 LBEHZ 47,648 66,360 A18,712
0B MBI ERRBELS 47,648 66,360 A18,712
O Aslseed@ 2l
Zd& 540,900 = 58 « 128 32,454 45,436 A12,082
O AMIERE 44l
Z& 154,000 = 5& « 128 9,240 12,936 23,696
O ASIER2¥ nSH|
ZE 2,600 x 5F » 222 « 12€ 3,432 4,805 21,378
O MIELR¥ OIS Z & 330,620 » 5& 1,654 2,315 2661
405 XHatE S| 111,000 40,000 71,000
01 AL EEFH SH 111,000 40,000 71,000
O 24 FEX o AEST2E AlAH 71,000 0 71,000
LD SSEIRF=E 2 0 940,000 £940,000
401 AlEH| L 20| 0 940,000 £940,000
01 Al&HI 0 940,000 £940,000
O Y0ISLEHFINE HE 2E 0 0 940,000 £940,000
OibIbI(F=XESEEIA) 411,658 36,835 374,823
801 GllHlHI 411,658 36,835 374,823
01 Broildlyl 411,658 36,835 374,823
O oligltl Z & 411,658,000 411,658 36,835 374,823
HHSEZH(REHFN)(FUHEESLESAH) 358,942 324,267 34,675
OIHIAY(NEHF L) (FAESESA) 358,942 324,267 34,675
ClE2AHY| (REHF I (FAEASESIH) 358,942 324,267 34,675
101 21244l 358,942 324,267 34,675
02 JIEtA S = 358,942 324,267 34,675
O FXUUEA (ALY 92 &) 322,422 287,899 34,523
— A2 2ReY
B 9,160 » 7F « 33AI2+ + 123 25,392 23,640 1,782
—ENSEHE A2DRLY
Z& 9,160 » 7H * 33AI12 » 128 25,392 23,640 1,752
—El2Z(6Y) 31,019 0 31,019
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